0002094635097999

o0 EHAE 0—e s>

2015 4F [E2H8 55 3 [

3| nkHRKETS.

(1) n A FOIAOEK L Z20T, Bzl + 2)" OEREBO 2* OFRME Kb &
7
(2) B (k+1%C, = (n+ D(n+ 02" &7

M Feo = x(r0" exCE, 2IBEEE 123,

n -
iy = n _Z_anCL x*
=

n -
= Z. nCip x&!
L=0
L - N 2 .z
£1. o= 2 @D aCixt B0 X 0 R0 (R DnCr
L=0 --.c*) e

DM EBLUFO)EEA3. ®)a@mil 12X ENITT

n -
xfxy = 2. (1)l ™
i=o

Ms

E { x -f'(x)}' =

[=]

=

LE B IRHFERH LI

(i+1) nCy - x* )(%E%m"&hémws )

n
Sh&), Floo+r xf = ﬁL (R 1) n C X
=0
- . 2 2 "
1:‘2’”:*‘.? kzl(ﬁ-rf)hch: —j:(f)'f'jc([) e (% %)
=0

12T, $E art4iE XY,
Foo = (110" + x-n(1+0)"!

Th("’ = fi{ I 7[)“"' + h(i*'?(.)n-' + X (=) (1+x)" 2

ffE 2t 2™ Fl= 2t - 2™

(#%%) IR 4VA LT,

22 (4+2n+ 4n +n*-n)

i 2
2. (k+1) nCsa
k=0

(h+Dn+4)2"% g




